Honors Calculus 1 Test 2 — Fall 2010
NAME_HEY STUDENT NUMBER

SHOW ALL WORK!!! Partial credit will only be given for answers which are partially correct]
Be clear and convince me that you understand what is going on. Use equal signs when things are
equal (and don’t use them when things are not equal). Be sure to include all necessary symbols. If
applicable, put your answer in the box provided. Each numbered problem is worth 12 points and
each bonus problem is worth 10 points. Put your calculators away!!! This is a math test!!!
Use my square bracket notation and don’t simplify your answers.

1. Use the definition of derivative to differentiate y = ﬁ (No credit will be given unless

you use the definition of derivative!!!)
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#{fa [3. Show that if the position z of a moving point is given by a quadratic function of ¢, x = A#® 4

Bt + C, then the average velocity over any time interval [ty, £2] is equal to the instantaneous
velocity at the midpoint of the time interval.
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f;!éﬂ . Use the facts that £[sin#] = cosw and ZLfcosz] = —sinz, along with the Quotient Rule, to

" 60 PROVE that the derivative of cscx is — cscx cot z.
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-6, If 3 4 43 = 16, find the value of d%y/dz? at the point (2, 2
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]m gﬁ' 7. Find the derivative of ¥ = (z + 1)*.
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[} Bonus 1. Prove that if [ has a derivative at z = ¢, then f is continuous at z = c.
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wmironus 2. Suppose that the velocity of a falling body is v = k4/3 m/sec (k a constant) at the

iﬂ b 9 instant the body has fallen s m from its starting point. Show that the body’s acceleration is
(3100

. - - s ,ﬁ' o -

constant.

t;f ¢

. A L., . 4 1 .43
N 7 (A5): &



